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39-When | got home| realized that | ......some bread l (4i33) ) oy |
for dinner. We didn't have any. ol oy b B et ) S )Ll 2350 Zes 3l ale V¥
1)could buy 2)should have bought ’ CelasYl
3)would have bought 4)would buy ize 5T Oleds 551 S als sl olest § 500
40-1 haveto find somebody.......... my car. It doesn’t run cedusl s s aly ol S K5 oluses 31 S(Y
well. L e o Oldnads 3 3 S al s Ky o il ST
Drepairing 2)repair LA 4 gl Ol 1 LSS ails s olest S S5 (F
3)to repair A)repaired I 3,Lall b domgy sllas oSV 0

41-Thelittlegirl had........ extensive knowledge about
the computer that everybody was shocked.
1)so 2)very
3)such 4)such an
42-The miners died because they hadn’t had enough air
to breathe.
1)If they had enough air, they wouldn’t die.
2)Had they had enough air none of they would have been
killed.
3)They wouldn’t have died unless they had had enough
air.
4)They died although they had enough air to breathe.

43-.e. him the procedure, he could successfully
handle the jab.
1)Telling 2)Whiletelling
3)Having told 4)After | told
44- No one could rescue the boy.......in the pool.
1)drawing 2)growing
3)throwing 4)drowing

45- “It’sthe....... that will make the final decision about
the team arrangement.”

1)judge 2)accountaut

3)coach 4)appointee
46-........... not to wake up anybody, we got into the
house quietly.

1)Inreturn 2)In addition

3)In favor of 4)In order
47-1f you don't ......... your self, you shouldn’t expect to
rely on you.

1) offend 2) operate

3) expert 4) protect

48-The doctor advised the patient to keep a.....beetween
hiswork and relaxation.

1)calculator 2)score
3)ceasefire 4)balance
49- | wish thebank......nearer. It istoo far.
1)were 2)had been
3)was 4)will be
50- Therewould be on extra.......... for the book delivery.
1)change 2)chance
3)charge 4)choose
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